ELEN 211

A, L Zecevic
HOMEWORK #1
1. Find the-inverse Laplace transform of:
a)
s+3
s2+7s+10
b)
25 +4
s(s+1)4s +2)
C)
i 1
(s =5)(s+7)
d)
1
s(s +2)°
e)
25 +1
3s(s?+4s5+13)
f)

1
$2+4)(s2+9)




2. In the circuit below

you are given
R=2Q:C=05F,L=1H
a) Find an expression for I, (s) in terms of I,(s) and initial conditions #; (0) and v(0).

b) Compute i (¢) in case i,(?) is a unit step function, i;(0) = 2 and v(0) = 1.

3. In the circuit below '

you are given

R =R,=R;=1Q;C, =C,=1/6 F

and v,(#) = 3cost. The initial conditions are zero.
a) Find an expression for Vi,(s) in terms of V(s).

b) Compute voltage vg,(2).
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